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Time : 2 Hours

Cool off time : 15 Minutes

Genera! Instrttcticns ta Can'didates :

q There is a'Cool off time'of 15 minutes in addition to the writing time

of 2 hrs.

s ycu are neither aliowed to write your answers nor to discuss an5rthing

with others durln!{ the 'cool off tirne''

& I.L.e 1,htl 'cool o'lf timr:.'to get farniljar with qr-rest,ions and to plan your

2"11 ;*'-t'x"/€ r'5 '

c Read thc questicns carefully before answering.

el AII questions are cornpulsorv and only internal choice is allowed.

G? \r/hen ,y'rli sr:ler:t a qr-restion, ali the sutl-quest,ions must be answered from

thr: satne quesfion il,self.

& Calculations. fiiltrres :rncl graphs -*houlrl l:e shcirvn in the tlnsvier sheet itself.

@ Ntalayalaln version of the questions is also provided.

o Give equations wherever necessary.

s Electronic devices except nonprogrammable calculators are not allowed

in ihe Exurmination ifall'

c'.r'l0agcoeono6:
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1.

,

3.

4.

Meaningful and processed. fonn

of data is known as

In C++ which among the

following is NOT a rule for a

valid identifier.?

a) The first character must be a

Ietter or underscore ( _ ).

b) White space and special

characters are not allowed.

c) Keywords can be used as an

identifier.

d) Upper and lower case can be

treated differentlv.

Nlemory requirement of void

data type in C++ is .......... byte(s).

The ari thmetic

operation Y/=10

to ...

a) Y=10

b) Y=Y+10

c) Y=Y/10

assignment

is equivalent

d) none of these

(1)

(1)

(1)

(1)

I<-926
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Proces s oc-roj"o)ro3o cro0o'rnorcdnt)ca)

togoccoi data oco o€)cr"n"

oJl$eo3crn3. (1)

cocog oacs3runnlrolao3cmotco;lcfl

mcul3orccor C++ identifiers eicr! rule

rcYogcomaf n€lftri?

a) 5lcrncoocdnD character noJ letter .

Grooflalafl underscore ( _ )

rorocojlolaoemc.

b) White space po . special

characters gclrccaccrt o:cslg.

c) Keywords identifier Grooll

go-r c co-rco:i 6'6)coJJcrn rocem".

d) Upper, lower case rcroasotrBog

cl;rul;cmnoccoJl orololenllao3crn3. (1)

3. C++ coJloer void data type m"

byte(s) memory Groor@Joc6'rn".

4. Arithmetic assignment operation

Y/= 10 cnJ ol3er;occonf

(1)

ocooooT'nDSJdoJe.

a) Y=10

b) Y=Y+10

c) Y=Y/10

d) none of these (1)



5. Pick the odd one out.

a) Virus

b) Trojan hoi se

c) Wikis

d) Worm (1)

6. Application af ICT fbr tlalivering

government sel'vices to citizens

in a conveniettt and transparent

manner is calied

a) Explain him various types of

broadband connectivitv

avaitrable in tht: tnarket.

b) Sriggest a web browser for

hirn.

9. "Clienr,-server architecture is au

example of centralized software

rnanagelnent." J ustify.

7.

8.

F-,,xpiain any three e-learning

tools {3)

Nlr. Prasa.nth has bought a new

lapiop. He wants to take an

Internet connection.

(1)

(3)

(1)

K-926
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,o33o'm1 t-o? oqorccuoi oce oofi0m)sJeo36.

a) Virus

b) Trojan horse

c) Wikis

d) Worm (1)

I CT et2os cnjcncCI)G(dr0)cos otclerCIooo$

G cru o J cn 6-68 c0 n: n rc c6 o c 6 ao" p_oJl rur o c cot3o

cn)JatrcCIJoc[Djo og)Grrt€JJ

oecsJaogcrnolom 1rgmnJ

oJlg|ao3cm3. (1)

og3einnniia3o oJCm" e-learning tools

eren n-lS cr,nruolao3a. (3)

t"-ic,oc1ol" 6l(03 cr-.l3rdiico) laptop olceudl.

rcroegooorolcn" 
"-l3crr3ancco.r1 

In ternet

conneciion G(Li6rDo.

a) ar€jocco) QrJ('))cruO 6)0o

broaclband connection eog

nJFi G:YoG-qorronDcnJ <llcuoleJl

od$cs]eo]db. (3)

b) errcq.roro'mllei elo3 web browser

cn16cqcrdieo3,a. (1)

management ocf, s:o3 gt.Jcoao6moceni

Client-server architecture".

mroCIorcao3a. Q)

6.

t.

8.

9. "c&tcn'l&Jro0c)caJ s oftw are



Sfrz

(2)I0. Match the folk-;wins.

b) Suggest him any four

practices of green computing.

10. GoloJooJsi er:l6ceo3a.

11. (1101r)z=(A)e

cooerne+itnfl A, B.

ojlet aeiflY€ccmia.

11. If (1 101 1) ,-(A)8 =(R) 16=(C) 10.

Find the value of A. B and C. (B)

12. "Ccntral Processing Unit (CPU)

is the brairr of the cornputer".

What is the role of Control Unit

(CU) in the CPU? Q)

13. Mr. Rajmohan wants to buy a

computer. He is ari engineer by

profession. He wants a device

which can be used to'draw
directly on the monitor screen'.

a) Suggest him an input device. (1)

(2)

= (B) ,0= ( c) ro
C ogrrr(caiJos

(3)

L2. "Central Processinq tlnit ICPU)

acn:;3:olercft olelc-?Jcocer,f" CPU

ojlmaoro" Control Unit (CQ orcrt

a6omo.tc cgcnjrco-nf? (2)

13. cgerorlm"loloco-.r rccg'cocoood noJ

computer crcerncc,6 to"lrogCIoml.-Eg.

c'rocgoonrmlcrf monitor screen o?

ccnolf oLrocojaeool.lcrn aoJ device

GO-J6{Do.

a) clocec.ofironlco" ero3 input device

c'lfrcqcailae,;..o. ( 1)

b) Greerr ciillf ui-iting'e,ci

o43 e'l ro {sl a3o .ir c gr c,,o"l g eun 6

nrocg,xlro'm.r1m cnlCIcgcnlao3a. (2)

Unguided media

Generic domain name

Guided media

Protocol

coaxial cable H

microwave 4

http a

K-926
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14. An algorithm is a finite
sequence of instruction to solve

a problem.

a) What are the characteristics

of algorithm? (3)

Pictorial representation

algorithms is called

ofb)

15. Draw a flowchart to find the sum

and average of even numbers

between 1 and 99.

OR

Write a short note on the

irnportance of internal'

docu mentation.

16" What are tokens in C++? List anv

two types of tokens.

L7. Explain the different types of

logical operators in C++.

(1)

(3)

(2)

(3)

l.8. Distinguish

dor.rble data

between float and

type in C++.

OR

(2)

What is a variabie? Differentiate

between memory address and

content of the variable.

K-926
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L4. Algorithm o€)cmcnfl ao3 totco'mruru'jlcrf

por6) roo & o 6YY3 C6 nDCcnSgg crjl cojl ro o c a) cfrJo

o3s6g corca;coeo cco,r cnl 6c g cneun gc6m".

a) Algorithm comrleicr! mroJlccnosro

aca ogocrorcooer?

b) Algorithm oront)

acernlao3cmoflocn

oJl$oo3cm3.

(3)

oJltro o3otoruJlnfl

o{)cm"

15. 1 ocf, erJo 99 oc@ co,rJo psco/let3gg

o3.r3cuc6 pog crooogapJcsoJo co3ecoleo

cratoccnolco.t3o 6c6,rDJoJccnJgg 6loJ

flowchart oro€oJa (3)

rooogerlnfl

Internal documentation ocfl

[orcu)ccnJocdnD nJBl a"el3o.lcco.fl

oJ1cro1aei3a.

(l)

(2)

16. C++ d tokens

og3oroaler3o o6rEJ

GrrJ6'to9JrDJe.

og;cmcnfl .,{)cr6')"?

(o@o tokens oQ

L7. C++ rtfl are;occol o$roJcrun coroo logical

operators ocn o161 oJlcordlaoldoJe. (3)

18. C++ oer float, double o6;crn1 data

typ e ru'rml aJgg oJJCI)ccruo

ruJdrDoc€oJe. (Z)

ranogerlnil

Variable ogcrncafl nOCnD"? Variable

ocfr memory address po.content

go rDrmloa cuJCDJmo o$;crD"?

Turn Over



19" What is imPlicit tYPe

conversion? WhY it is called tYPe

promotion?

352

19. Implicit type conversion o4;crncroi

n€)cnD"? oOcnDA o&c6nec6m" q:oilerm t-vpe

promotion o6crn" oJi$ao3cmrui? il)

20. cocog oecsJo'nD Prograln o3mf

ffDoCIl)epJos rDJA &o6'rBcdnDJ(rnJ' oJcrn"

croodrlJ6QJos ctoocs?o1 eo5rc(o.]"oJ(Tn

o3o-L orolafl Pro gr a m .nl ocffo

cr-toJoroJe. (cnocoool arafl fraction

oloccuJcrnrocern). (2)

(3)

20. The following program finds the

sum of three numbers. ModifY

the program to find the average.

(Average should disPIaY

fractional part also). (2)

#include<iostream>

using nalnespace std;

int main ( )

I

int x ,Y , z, result;

cout<<"Enter values f or x ,Y, z" ;

cin>>x>>P>z;

result=x+y+z;

cout<<"The answer is ="<<result;

return 0;

])

2!. Compare ring toPologY and

mesh topology. (3)

2L. Ring topologY, Mesh toPologY

ogcrdlotera) (oco(oo)o oc-l$Je. (3)

K-926



352

22. The follorving code

prints first 10 natural

22. cocog oacsJo'nD code segment

G'rg)cJO(6rD 10 09spd cruoo{&6'rg print

odqJcmJ.

segment

numbers.

int n=1;

while (n<=10)

cout<<n<< tttt;

++n;

a)

i

Modify the program to print

first 100 natural numbers.

b) Rewrite the above code

using for loop.

a) cpleJocunD 100 ffi)odl{eog print'

oelgJcrn oororcilafl code afl oc6o

oJoJcnDSe.

b) For loop g"-rcco.rcoilqi

oc61 o6v3(o)Je.

(1)

pr code

(2)

23. cruccucoGrDcotccol go-tccorccnldoJcm

o€lo(u)n1a3o Gro6'pl" secondary

(auxiliary) memory device om 
".161

oflorolaeiga. (5)

24. <ocrnlolae'r3crn oJ6ogo Ieap year

Grocs',mc oocm" ololcs?c(])looJcrn ao]

C++ program o0e3roj6. (5)

roOogerlcfl

GroeJocoro 10 ag moorJagJos square

ocfl roJa aene3o-fls1aoJcm C + +

program o$eJ(DJe.

(1)

23. Explain any

secondary or

devices.

five commonly used

(auxiliary) memory

24. Write a C++ program to check

whether a given year is a ieap

year or not.

OR

Write a C++ program to find the

sum of squares of first 10 odd

numbers.
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